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far addoect : tree) : tree -

case 1- of

Empty ⇒ Empty
/ Node (fer) ⇒ Node(É ,
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far addoect : tree) #e-
Case f- of
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far addoect : tree) : tree -

Case 1- of

Empty ⇒ Empty
/ Node (fer) ⇒ Node(É ,
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far addoect : tree) : 1

Case 1- of

Empty ⇒ Empty
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( * Goal : sort a tree with 0 ( n log a)workwith newts
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Case t of

Empty⇒ Empty
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( * Goal : sort a tree with 0 ( n log a)work
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(* Spec: Given a sorted tree t
splitAtlt, b) = Il , r ) where
l and r parti Hn t
and eoeyhy in l E b

camping in r > b *)
fun splitAt ( t.IT?int) : tree * tree =

case 1- of

Empty ⇒ (c- nphg Empty)
1 Node (l

,
×
,
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true⇒
1 false⇒
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case 1- of

Empty ⇒ Cenphg Empty) ☒§§£y1 Node (Ayr) ⇒ case of

true⇒
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fun splitAt ( t.YTI.int) : tree * tree =
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case 1- of

Empty ⇒ Cenphg Empty) %oylnodell.x.rs ⇒ case
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true⇒
let val Lll , b) = splitAt (e)
in
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Z b

1 false⇒ let vallrl
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fun sphtd-tlt.FI#nt):tnee*tree--b ④
case 1- of

Empty ⇒ Cenpty, empty) ☒§③r1 Node (Ayr) ⇒ case b_<x of
true⇒
letvallll , b) = splitAt (e)
in

end 1¥ ,
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fun sphtd-tlt.IE#int):tnee*tree-- b④
case 1- of

Empty ⇒ Cenphgenpty) ⑧☒*§ Case for Modell
, ×, ,)

lnodece.gr> ⇒ case

jtfarl-T-jspl.tv , b)trees

letvallll.br)=sphtAt(e)
in =(le,lr)
end 1¥ ,

Eb with lls b,µ,⇒.+µµ,,µ age, ,
IIKÉ¥¥

IHf spliff, b)
=( re,rr )

tosh-oi.spl.tt/-( ④\)== wite rlsb
and rr > b

①

tlll.NodeClr.x.rDToshoTBk_bTb@HCNodece.x.res.r,



fun sphtd-tlt.FI#nt):tree*tree--b ④
case 1- of If balanced
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